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QUESTION 1

As input for the system development, the Board of Directors of an automotive manufacturer has specified the following
goals:

1.

The infotainment system should be easy to operate.

2.

The user must be able to operate the system without becoming distracted from the road traffic.
3.

The system should function without an additional power source.

4,

The system should be configurable for various models of car.

With which two approaches can these goals be detailed and refined best? (2 Points)

A. Clear specification of the goals with the help of use casesand the associated activity diagrams.
B. Documentation of the goals in a sequence diagram.

C. Decomposition of the goals with the help of goaltrees, in order to obtain more concrete goals.
D. Formulation of other goals, since the given goals are not feasible.

Correct Answer: AB

QUESTION 2

In a meeting held with the goal of validating a set of requirements, two participants become involved in an in-depth
discussion about the content of a requirement. One of the participants is of the opinion that the requirement must be
realized as described, since the success of the product is otherwise jeopardized. The other party dissents and argues
that this requirement cannot be realized technically as described. What is the best way for you to react to this situation?
(1 Point)

A. You note both arguments and let the project manager make the decision.

B. You invite all stakeholders to a workshop and try to reach agreement.

C. You prefer the second opinion since you believe that the discussion makes no sense if the requirement cannot
berealized.

D. You get together with the affected stakeholders and attempt to reach an agreement on this.

Correct Answer: D

IREB VCE Dumps | IREB Practice Test | IREB Braindumps 2/4


https://www.geekcert.com/ireb.html
https://www.geekcert.com/ireb.html
https://www.geekcert.com/ireb.html

VCE & PDF https://lwww.geekcert.com/ireb.html
2024 Latest geekcert IREB PDF and VCE dumps Download

GeekCert.com

QUESTION 3

You wish to define technically relevant terms in a project. Indicate true or false for the following statements in order to
complete the sentence beginning "The definition of technically relevant terms ..." (2 Points)

True | False
A B ... 13 a desirable, but not strictly necessary component of requirement documents.
C D ... Must establish for technical terms their meaning for the systemto be
specificd.
E F ... Must be cross-project in nature.
G H ... Isalways made more understandable by means of additional examples and
counterexamples.
A A
B.B
Cc.C
D.D
E.E
F.F
G.G
H. H

Correct Answer: BCFG

QUESTION 4

You are employed as a requirements engineer in a company that develops control software for electric
motors. During your work it becomes increasingly evident that the developers are very well aware of the
necessary requirements, even though the requirements are not documented in their entirety. Nevertheless,
you decide to document requirements systematically.

Which two of the following

arguments justifies this step? (2 Points)

Documenting requirements systematically is important, because...

A. ... implementation without documented requirements is not possible.

B. ... non-documented requirements are difficult to negotiate between the stakeholders.
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C. ... the coverage of the requirements by means of test cases cannot be checked.
D. ... documented requirements are also good requirements.

Correct Answer: CD

QUESTION 5

Which two statements are correct with regard to the introduction of a requirements engineering tool? (2 Points)
A. The introduction of a tool defines the future requirements engineering approach

B. Risks associated with the introduction can be identified through a pilot operation

C. The requirements engineering processes must be clearly defined before introduction

D. The license costs are generally the greatest cost block relating to the introduction of a requirements
engineering tool

Correct Answer: CD
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